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o) A 513,0008 * 124 513 540 N7
Ha 4X 29 63,994 65,388 A1,394
(= 24,000 0 24,000
= 39,994 65,388 A25,394
201 LBty 9,439 10,488 A 1,049
02 2229t 9,439 10,488 A1,049
Ol2222 ¥ MAl 9,439 10,488 A1,049
OYHECCTVIH AIS2 (20 AT 2t H)
FH 9,439,0008 * 14! 9,439 10,488 A1,049
401 AlEHIL20HY] 54,555 54,900 N345
(= 24,000 0 24,000
= 30,555 54,900 A24,345
01 Al&H] 54,555 54,900 A 345
O[Al&HI] 54,555 54,900 N 345
OYHE CCTV &l e
ZA 12,000,0008 * 404 A 48,000 48,000 0
(= 24,000 0 24,000
= 24,000 48,000 A24,000
OYHEE CCTV BLSAH20AFE 2 H)
AE 4,180,0009 » 14! 4,180 4,400 2220
OYHE CTV SXNEX (20 AE2ZH)
a3 2,375,0008 * 14! 2,375 2,500 A125
Sord™ HX EH2E 71,300 70,000 1,300
401 AlSHI LS 71,300 70,000 1,300
01 Al&H] 71,300 70,000 1,300
OlAI&Hl] 66,500 70,000 A3,500
ONSOHMEXE Ald L WX (20| A= 2N
) Z 3 100,000 * 95J1 A 9,500 10,000 A500
OJIE NEANFAILES &3 23,750 25,000 A1,250
oBFALE (20 AR 2
2 A 9,500,0008 * 14! 9,500 10,000 A500
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2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH I & Hl =2
OEIEZ (2 AEZN)
ZE 50,0008 * 28504 14,250 15,000 AT750
O=SUHEHA S2F TXT CIPRH (20
H2toH) ZE 9,500,0008 * 14l 9,500 10,000 A500
OUSOHMEEH| (OFZEAIXIS ) (20l A= 2
o) ZF 23,750,0008 * 14l 23,750 25,000 A1,250
OdSITRN NEANLS B2&D &1
4,800,0002 * 102 4,800 0 4,800
SUE e 104,443 58,970 45,473
401 Al&HI L2 104,443 58,970 45,473
01 Al&H] 102,000 58,500 43,500
OIlAI&H] 102,000 58,500 43,500
O2H0Is2E Ald & W
2% 8,700,000 * 1090 A 87,000 43,500 43,500
03 Al&=20HHI 2,443 470 1,973
O2H0IsLR Al Y DHZAF 20|
A 226,200,0002 * 1.08% 2,443 470 1,973
ZA - HIXHIIY Ut 8,880 10,800 A 1,920
[= 3,000 3,000 0
= 5,880 7,800 A 1,920
EA|USHXS 8,880 10,800 21,920
[= 3,000 3,000 0
= 5,880 7,800 A1,920
B GIRA 2te 2,880 4,800 A1,920
201 LBt Y] 2,880 4,800 A 1,920
02 222ZH| 2,880 4,800 A 1,920
O[Z2222 < HAll 2,880 4,800 A1,920
OYHABIXYTIRA SOIHHAIAL 242 (2
Ofl AFE 24 0H4) ZA 300,000 * 6 1,800 3,600 A 1,800
OYAVXFRA M2 (20| AR 2NH)
2 1,080,0008 * 14l 1,080 1,200 A120
HHSABH (NN ) 79,069 89,278 10,209
ol H|(Ybt) 3,780 4,200 A420
ol | (L) 3,780 4,200 A420
203 2= 3,780 4,200 A420
04 BNR2IARFZH| 3,780 4,200 A420
ORN2I AR E=IH| (20 A= 2HH)
23 315,000 » 12" 3,780 4,200 A420
Jl=2ZH(Lyt) 75,289 85,078 19,789
ANSEIMEE J1=2AH 37,383 34,607 2,776
201 LEI2AH| 19,032 17,997 1,035
01 AFR2t2lH] 18,616 17,535 1,081
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£ XS EH D
HM: HHMS2IYAH|(KSZ N D)
chel: J|2dyI (e

i)

2AH -3 - SH2A(SH) - MEAMY - BHES Of] AF2H I & Hns2
OBANSE SUH A (20| AR 2HH)
22X 6,615,0008 * 14 6,615 7,350 AT735
DICHAA EHE DI =2AH| 0 9,875 N9,875
201 L2 AH| 0 6,095 AB6,095
01 AFR2t2/H] 0 6,095 26,095
Olget2H|] 0 3,150 23,150
OBAN2E SUHAM(2HARZH)

38 02 0 3,150 23,150
Ol=2&HI] 0 2,945 A2,945

38 03 0 2,945 N2,945

202 O4dl 0 3,780 A3,780

01 =LHAOYI 0 3,780 A3,780

FARE SUALM(20LAEZN) 2FH 0 0 3,780 A3,780

HEes(XSZ R 706,800 500,000 206,800

LHEHcH KIS 706,800 500,000 206,800

ez SAIILSHA 600,000 500,000 100,000

702 VIS8 ES 600,000 500,000 100,000

01 JI=d&E=2 600,000 500,000 100,000

ogg=z sMJIE= = x4

600,000,000 * 14| 600,000 500,000 100,000

sSEX JIgAIEES SA2 106,800 0 106,800

701 JIEIRI AN E= 106,800 0 106,800

01 JIEt=l AN ES 106,800 0 106,800
Os3HX A= JIBAlE EHI

106,800,000& = 14| 106,800 0 106,800




